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ks |BEEH| B E | pean BEEM| B R E| kg BEEN B E
F1HREX . 468 199 468 199 468 199
F2HEEREK . 129 337 [ 129 337 [ 129 336 /
EIRER| WME-FEE-EFM 422 181 / 422 181 / 422 181 /
FA4BRX| F E (2~4TH) 176 86 [ 176 86 [ 176 86 /
ESRER| F E (5TH~) 479 211 / 479 211 / 479 2117 /
FRER| R E X 54 34 / 54 34 / 54 34 [
F7HEREX = - 357 149 / 357 149 / 357 149 /
ESRER| kX L 34 21 [ 34 21 / 34 21 /
FOBRER| FTA4AX 31 16 / 31 16 / 31 15 |
FIBRER| H o 63 41 [ 63 41 [ 63 41 /
FNBRER| 5 A R 46 25 / 46 25 / 46 25 /
FUBRER| F H 428 186 [ 428 186 [ 426 186 /
FRBRER| E X 424 173 / 424 173 / 424 172 /
FUBER| F @ iT 854 378 [ 854 378 [ 854 3178 /
FIHRER| B 525 207] |/ 525 207 | 525 207
FIRER| B =X 1,475 625 | 1,475 625 | 1,475 625 |
FIRERX| P 5% - AHEB 366 181] | 366 181] | 366 181 |/
FIRER| & B 45 30| / 45 30| | 45 30| |
FOBRER| E IR 218 120] / 218 120] | 218 120 |
FARER| F E 1] 122 66| / 122 66| / 122 66| /
FAHRERX| X H-X 5l 256 151]/ 256 151/ 256 151/
FUBRER| H & = 98 59| 98 59|/ 98 59|/
HBEATRE 1,418 1,417 1,414
a 5 1,670 4,900 63.89% 1,670 4,899 63.87% 1,668 4,893 63.81%




